Installation manual
ML 705

ceasyyfill

Clever store shelves

24.4. 2019



ML-705

T

|
i e g

eeasyyill



ML-705

\\\\ ‘

&
P

o7
\\\\\\\lu\\\\\\\\\\\l\\ 7 J \\\\\

- ‘\

wuw 0S¥ 1

7

N

Z

\
W\
,,? \
", W W\
AL
/
i PN\
_, EEA A\
7
/ R/
. /4
F NN

[\ a4



teasyfill

70, H 145 mm

High 95x615x4 mm

ML 705 packing details PARTS ML 705 packing details PARTS
SET Art. ) Weight/ SET ) Weight/
No Picture Product name Art. No item Qty. Art. No Picture Product name Art. No item Qty.
- Frame $g;0r?::” FA-l 0120-16000-0 | 1,500 kg| 1 Shelf 70 Housing | 0120251000 | 1,640 kg| 1
— R Shelf 70 universal
- Frame RotoShelf FA - 110 110000 | 11,000 kg| 1 o i 400418 1,195 kg| 1
L bottom part Cooler . white
Sl . o it
Frame RotoShelf FA - 8
| ide part (1039 h PLASTLABEL
side pn‘img 0148-10007-0 | 1,400 kg| 2 | & i RS90F11 400450 1
Q 585*370,8
P
J— ‘ .
") / Connecting mat. For Frontstop universal
(& - -
[ / o el EA | 0120-19000-0 | 0,200 kg| 1 70,1 94 mim 400431 0,190 kg| 1
Allen key 0000-0013 kg| 1 T D""derwlﬁ]?t'em'go 400393 0,044 kg| 7
Standard TopSlider Standard TopSlider
Shelf FA 0120-43000-0 | 3,400 kg| 1 Shelf FA 0120-32000-0 | 3,300 kg| 1
2 66(16.90z, 500 ml ) @ 74(20 oz, 591 ml )
ML 705 packing details ACCESSORIES ML 705 packing details ACCESSORIES
Weight/ Weight/
Picture Product name Art. No ?Ig Qty. Picture Product name Art. No ?Ig Qty.
item item
Shelf 70 Housing | 0120-25100-0 | 1,640 kg| 1 Price List 0,050 kg| 1
Shelf 70 universal Divider extender
white 400418 1,195 kg| 1 L2483 mm 889090 0,030 kg| 1
) D""derwi?t'em'go 400393 0,044 kg| 1 { Pusher 0118-00000-0 | 0,050 kg| 1
F'Or;tOStgng:‘”:n"enfa' 400431 0,190 kg| 1 — Rollertrack 400392 0,150 kg| 1
. PLASTLABEL
Fro;gs‘ﬁpsj”:n"enfa' 400603 omzkg| 1 | | RS90F11 400450 1
- 585*37*0,8
Frontst ) | Frontstop
rontstop universa 400606 0,300 kg| 1 - UNIVERSAL 620 400436 1




i

.‘/A \ \L_%
\O O)
Ly
T
- | 5
O
‘ Ll
4 mm $ 13 mm 17 mm LocTite
0000-0013 Super
Glue
ISO7380-2 M 8x16 M 10x40 M 8 AL 1. 71-25
M4 x 10 (2x) (1x) (2x) 0000-0006 M 6x30
(3x) (1x)

(1x)
eeasyyill



Standart - TopSlider Shelf FA Standart - TopSlider Shelf FA
Art.N. 0120- 32000-0 Art.N. 0120-43000-0

Shelf 70 Universal
Art.N. 0120-25000-0

eeasyfill AT



0120-11006-0

(e

M8x16 DIN603 M8DIN934 M10x40DIN933 0000-0006 71-25 M 6x30

(2x) A (2x) B C D E

A B C D E M4x10 4mm —
3 _ 0148 — 19000 - 0

N

> .
y N\ F (< B N
(¢ \ ) VL S SO

L/eésy ﬁ l l v/ N7 \ U 5 @) | 7




Example.1

SHELF 70
UNIVERSAL

0120-16000-0
(5x)

0148-10007-0
(2x)

1039 mm

' 0120-11002-0

0148-400394-586x400

Example.2

Example.2
B:

A:

0120-32000-0

0120-43000-0 (3x)

(3x)

SHELF 70

A e
\_\\‘\:\-‘.\(‘\\‘\ )\
SSS SN SHELF 70 UNIVERSAL

UNIVERSAL




ISO 7380 -2 M4 x 10
(3x)

0148-01000-0



eeasyyill 10



11






13







M8 x 16 DIN 603
(2x)

M8 DIN 934
(2x)

eeasyfil




80




eeasyyill

17



11.

ISO 4027 - M8 x 20-N

LR

L

M=9Nm (MAX) '/




\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\

b N ® 6 § ~ N @@ v v 9N @ O

il ittt il
Al e .




20

eeasyfil



.

5

lelelely
)©000
aelelele
Té?@@
©0
4L

L

&easy(ill

Bl

.

|

00000 ;
lelelele |
clelely
felele -
elele)

oG

=

21




INSTALLATION USER MANUAL OF UNIVERSAL SHELF 70

ceasyy/ill

Clever store shelves

22



INSTALLATION OF UNIVERSAL SHELF 70




SHELF ROTOSHELF 70 UNIVERSAL

PICTURE PRODUCT NAME ART.NO QTY.
SHELF ROTOSHELF 70 UNIVERSAL - White 400418 1 pe

,,,,,,, -

" %
FRONTSTOP UNIVERSAL 70 LOW H94mm 400431 1 pc

]
[ et FRONTSTOP UNIVERSAL 70 HIGH H 54mm 400603 1 pc
DIVIDER UNIVERSAL 70-90 400393 7 pes

I /j

T —
— PLASTLABEL RS90F11 585*37*0.8 400450 1 pc
24










@ 66 mm

70mm

A)lex;" | L ‘H‘L—\ \ }‘\‘

1

AAA 'UL 'UL AAAAAAASD ‘

5 ‘V‘“"""W\ [if ikt i |M} (b

MIH 1AL |
D) —Al |
) | “ — ‘

’@ | @. {118 N[ 1111114

"IIHH||IHII‘|||H||I|H‘II|I|[|||IIN|||H||III‘I||IHIIIINIIIIHIIII‘HIII|HIII|

10

0

an

a0

&0

&0

70






easy/ill

I

"||HH||IHH‘IIIH||||II‘I|IHHIIIIN|I|I||I|II‘IIIIHIIIINIIIIHIIII

0

10

0

an

a0

&0

&0

70



\\\\\\\\\
\\\\\\\

\
—>4

W

)

\

\ 4




: /s

7\

A\
) i A

ceasy/ill



ceasy/ill






